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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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A Cycle can be purchased by cash
payment for 6000 but it is also available

for_purchase on cash down payment of
and rest can paid in
installment of 1000 rupees each . find
the rate of simple interest ? U

asfdd F dAdeg HIAH 6000 FTIF
¥ @ler o1 FFar §, AfFT I8 3200
IUY & dAFc 334 A W @l &
e it 3gaetr § 3y S &1
HIdel A% 1000 I9X Hr 3
AfA® fFea & f&Far a1 g@&ar gl
ATYRUT AT $T X AT HIAA?
(a) 42.1%  (b)43 % (c) 33.25 %
(d)44.44%  (e) None of these

4
&4“’ = 6000 Y,
—23200

s
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If cash price of a book is 400 but it Loo
can also be purchased on the cash 159
down payment of 150 rupees and rest
can be paid in 6 monthly installment
of 50 rupees each in next 6 month
find the rate of simple interest ? 39X
fFdl gFa® &1 d%g HeT 400 &,
AfFT ¥ 150 ITX F A%c
saraTeT 9X Y @ler ST wHar ®
R arhr @ I 3T 6 HAGlA o
& 50 39X Y 6 ARAF hed A pa
fFar a1 |@&har 872 o
(a) 21% (b) 53 % (c) 325 %

(d)80 % (e) None of these
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An old scooter is available for 12,000 at 1200"0 S| 24V 3]
cash payment or it is also available for  —'°°

v/ 0
7000 cash down payment and a[P\:— 50098¢ g@ M‘»@\
monthly instalment of 630 for 8 , _,3,x& — a0

months. The rate percent per annum Q'

is? UH FHeT ARG A W b
12,000 # 39eeyr § A1 I§ 7,000 1200

d%e 334 YAC AR 8 AP & fav .
630 # wRATF fred ¥ fav sh ge
3qarey g1 ufa a¥ i gT ufaera 82 |
(a) 2.1% /(b)3% (c) 3.25 %
(d)3.3 % (e) None of these
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What Annual payment will discharge

a debt ofrupee in @annug_l

instalments of an equal amount. Aroat
While the rate of interest is per ?__“f____-fﬁ?«? ’
annum @ SI? 1950 TUA & FHOT er“/ Surh o,

F1 fAdegs F9 & v 5 A Lo%0

[y A Fla-A s Fea & ~___¥le©
AT ST §Far § | o9t sae O 65T

$r T 15% ufday @ SI 82

_ l‘&o\j\w
(a) 300 (b) 350 (c) 400 -

(d)120 (e) None of these
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What annual payment wj
discharge a debt of 848 due i

years at 4% per annum simple —> (007
interest? 4% Yfda¥ HTYROT 9 — loy~
gt W 4 &I A 848 & . 108°
®OT w1 o amE g B0,
F’mT? Ihsi'; Lok

(@)300 (b)350 (c) 200

(d)120 (e) None of these @
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an annual Payment 700—> [nSt
rupees till 5 years at(10% pe

annum on simple interest will
discharge a debt . find the debt
amount ? HMYRUT edTaf 9T
10% wfa a¥ 5 ast g 700
¥4 FT qNE A TH
®OT &1 fadead &@m mor (00
Y AT HIiAA?

(a) 300 (b) 3500 (c) 4200

(d)120 (e) None of these
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A man borrowed a sum of Rs 10000 from
the bank . If he pay back 4000 at the
end of 3 year and to clear all his dues he
paid Rs 8520 at the end of 5 year . find

the rate of simple interest ? U&h TEHI w lfff

a dF & 10000 $9F T UM IUR /
ofl 39X 9% 3 °IT & IAd # 4000 @ ,

FT A HAT ¢ AN J9a |- ooO

THRET F QT A F AT IFSF 5
A & T A 8520 TUX F A )'fo'i,%g e
fFar ¥ WUROT s # @ A £000

@)21% (0)5% (6% G
a) 2.1% % C)6% 00
(d)3.3%  (e) None of these @/ \
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A man borrowed a sum of Rs 6000 from

6000
the bank . If he pay back 2000 at the end P @

B e ———

of 3 year and to clear all his dues he paid
Rs 7600 at the end of 6 year . find the
rate of simple interest ? U&h &giad o
dF ¥ 6000 T9¥ 3uR favwl I} IF
3 a¥ & Id H 2000 HITcTed
AT ¢ AR g gt ST #
Wﬁ*fﬂ'ﬂ'ﬁﬂ*ﬁﬁ7600
X FT S FIAT P

ST #Y &T AT HSA?

(a) 21% (b) 15 % (c) 16 %

(d)12 % (e) None of these

2000

600

a6°°
@@







